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A-2 Loperdie lables

Table A.1  Cumulative Binomial Probabilities Blx,n,p) = )_‘_ bly-
aan=§ ; - re

0.01 0.05 010 020 025 030 040 050 060 070 075 080 090 095 ¢

|
3
i
|
1
%

0 951 774 590 32 237 .68 078 01 010 002° 001 000 000 .000
1 9% 977 919 137 633 528 337 .88 087 0%l 016 007 000 .000
x 1 1000 999 991 942 B9 837 683 3500 317 .163 .04 058 009 001
3 1000 1.000 1000 993 98¢ 969 913 812 663 472 367 263 081 023
4 1000 1000 1000 1000 999 998 .99 969 922 .82 763 672 A0 2%

b.a=10
P
0.01 0.05 010 020 025 030 o040 0S¢ 060 0.70 075 080 0% 095 (
0 904 599 349 07 056 028 006 001 000 000 000 000 000 000
1 8996 914 J¥ 36 244 149 046 011 002 000 000 000 D00 000
1 1.000 988 930 - 678 526 3831 167 055 012 002 .000 000 000 .000 .
3 1000 999 987 AT9 176 650 382 AT2 05 011 004 001 000 .000 .
4 1000 1.000 998 967 922 850 633 377 166 047 020 006 000 000 |
A 5 1.000 1000  1.000 $94 980 953 BM 623 367 .50 078 033 002 000
6 1000 1000 1000 999 99 989 945 #28 618 350 224 .21 013 001
7 1000 1000 1000 1000 1000 998 988 945 833 617 474 322 00 012
§ 1000 1000 LO00 1000 1000 [.000 998 .989 954 851 T56 624 264 086
9 1000 1000 1000 1000 1000 (000 1000 999 994 972 944 893 651 .401

4
0.01 005 010 020 025 030 040 050 060 070 075 080 090 095 |
0 .80 463 206 035 013 005 000 000 000 000 000 000 000 .00
| 990 829 549 167 080 035 005 000 000 000 00O 000 000 OO0
2 L0 864 816 398 236 .127 027 004 000 000 .000 000 000 00O
3 1000 995 944 648 461 297 091 018 002 000 000 000 000 000
4 1.000 999 98T 836 686 515 217 059 009 001 000 000 000 000
5 1000 1000 998 939 852 722 403 .51 034 004 001 000 000 000
6 1.000 1.000 1000 982 943 869 610 304 095 OIS 004 00! 000 000
7 1000 1000 1000 99 983 950 787 500 213 050 O0}7 004 .000 000
8 1000 1000 1000 999 996 985 905 696 39 .31 0ST .0I8 000 .000
9 1000 (000 1000 1000 999 996 966 B4 597 278 48 061 02 000
10 [.000 1000 1000 1000 1000 999 991 941 783 485 314 64 013 .00l
111000 1000 1000 1000 1.000 1000 998 982 909 703 539 352 056 005
12 1000 1000 1000 1.000 1000 1000 1000 996 973 873 764 602 .14 036
13 1000 1000 1000 1000 1000 1000 1000 1000 995 965 920 £33 451 ..
14 1000 1000 1000 1000 1000 1.000 1.000 1000 1.000 95 987 965 WA 353
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Part A

(W A)

Amit’s father believes that Amit should optimally study for 9 hours every day by
devoting 5 hours to Physics and 4 hours of Mathematics for cracking [[T-_]E? I
Amit chooses some otiler combination of work hours for the two subjects j¢
(P, M), his father gets annoyed and measures his deviation from the optimal work.
hour bundle by
D:|5ﬁP|+[4—M|.

The larger the D is, the worse off he thinks Amit is as he shall not be able to
achieve his goal. Sketch a few indifference curves of Amit’s father for his son’s work-
hour choice. Explain your diagram.

B . B o e Rl
ﬁma@q,ﬁuﬁ%sﬁ?%ma4ﬁwﬁmﬁm
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Mr. Malik resides in a state where the sex ratio is quite low. The State Government
is making efforts to improve the condition of girls in the state and is offering four
different schemes : A, B, C and D. Two eligibility criteria are specified by the government

for households to qualify and take advantage of the scheme :
(a) Girls—only households and
(b) Girls above 18 years.

Scheme A : Each qualifying household gets a grant of Rs. 10,000 that it can spend

as it wants.

Scheme B : The govemment gives a grant of Rs. 10,000 only as long as the qualifying
household spends at least Rs. 10,000 more than its current spending

on the education of their daughters.

Scheme C : The government offers a matching grant of 50 paise against every rupee

spent on the education of daughters by the qualifying household.

PO
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Seheme D : Same as Scheme C with the condition that the total amoung of,

grants will not exceed Rs. 10,000.

Mr. Malik has twin daughters who have recently tuned 18 years and thus he qugg |

for the scheme. He currently earns Rs. 60,000, out of wl{ich he spends Ry 20
T a

on the education of his daughters (D) and rest on all other goods (G). Show grapp..«

and numerically how Mr. Malik’s budget set will change with each -Of‘the ‘

four schemes ?
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(i) Consider the utility function
uxg, %) = (%) - 2), (x, - 3),

P.TO.















(« 119 )

der a worker who splits her 24 hours per day into working time anq .

time. The worker has a utility function over the consumption good and |

(i) Consi
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(i) Anu’s wealth consists of a bicycle that is worth 1000, She faces a probability

n = 0.2 of her bicycle being stolen (in which case her wealth will be zero). Her
utility function is given by u(x) = x2, where x denotes her wealth. State Anu’s expected
utility function and calculate her expected utility. For an insurance that pays her K
in case her bicycle is stolen, Anu has to pay an actuarially fair premium of 0.2 K

where K is the amount of insurance Coverage or benefit received. Using a suitable

diagram, explain how much insurance Anu will buy. 4+6+5

mﬁmwmﬁﬁ%ﬁwq@mo%lwm
%ﬁﬂéﬁmﬁmmn=o.z(mfmﬁiﬁmaﬁmﬁm'@7ﬁ)
(4 | SR ITATN B u(x) = «2 G WA T Y, Ty o wes
ﬁmtlmﬁmmwaﬁmmw&mwﬂ
F T Fifs |qm%ﬂma‘,ﬁquh3ﬂxmmqmufamaﬁ
afde W1 AR T, o BN wfoet ww sfew gifwaw

02 K &1 90 & 8 I G B s B G e—

t 1 3faa foa B0 omen S fE sy feew dm wded 2

RT.O.










b

Resilient Group of Industries (RGI) buys two factories to produce widgets. Each f: M

(i)

produces identical products and each has a production function given by :

¢ = L iy, 2,
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l. (@ () In a goods market equilibrium in closed economy, S + TA — TR =1s

—

use this equation to show that a fiscal expansion will lead to an in

crowding out effect. ;
(i) Show using AD-AS and IS-LM curves why money is neutral in th
Supply case. '
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(i ) i 6005

‘1_“5\"
What do you mean by natural rate of unemplomentﬁﬁ”, Modified Phillip's

Curve.

"*Wage Indexation increases the effect of unemployment on inflation.” F

statement.




(b)

(c)

()

()

(9)

(4= 6005

(i) Define Adaptive Expectation Hypothesis. How does this theoery allow d

relate expected, unobservable variables to actual observable variables o 45

(i) Discuss any fwo sources of Lucas's theory of Business Cycle. 1

Discuss the policy ineffectiveness proposition which asserts that "any predictable py
of money supply will have no effect on output, employment and other real variableg

while only unpredictable money supply changes can affect output". 75

() Frafafad #99 w1 w9zmwEe
s & fram d smm 39 g3fe X 4 1 wfaea sfus
T H FRU RS X H Fael 04 gfava FH DA a9 a9
T H 04 yfawd ® FW OV ITW X W had 0.6 Wav@ 3
adt ?
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() sefea sy wReew ® wRwfem #ifo oz foga 59 9
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(1) [iscuss the cllectiveness ol monetary l"‘““ in a fixed and Nexible !'\\ll‘lll}'t rate

regimme in the presence ol perfect “‘l‘”-’" mobility and fixed prices 7 &

(b () How can the automatic adjustment mechanism restore both internal and  external

balance if the cconomy s anitally inless than full employment equilibrium and
is having a current account detion ?

(1)  Explan the ')' curve. 4.5

() Explain why, following a monetary expansion, exchange rate always overshoots ity

new long run equilibrium value. 74
(30) Ot w1 yofa: nfoeiiera @ vl whd o s w ool @ forr fafo
R wmaen A odfew Aifa @) wwavitean w wal wifo
() () HA @afea wurdsE a3, @A omafis @ aed wger W) g
wifd # wehdl ®, afe sdereen siow A qol s @ ww e
H ® awm 9 @ we W o2
(i) ') 9® wuEd H sren sifs
(9) gwemze #, ua wifed faxr & ., fafma g wda s dvdwmed
Uqer fgea A sfus @ sl ¥
(@) Distinguish between the following exchange rate system
Adjustable Pegs, Crawling Pegs and Managed Floating, T
(h) How does domestic money supply vis-a-vis [oreign money supply determine the
exchange rate in '‘Monetary Approach to Exchange rate Determination’ ? Tl
Discuss using suitable example, how do foreign exchange risks provide an opportunity
of hedging and speculation in foreign exchange market. 1.5

P.T.O.
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(1)

(1ir)

(L8 ) 6007
() What is dummy variable trap ?

(h) I the researcher wants to take *m’ dummy variables for *m’ categories. what should

be dropped from the model ? 2+1=3

The relatonship between infant mortality rate (IMR) and the expenditure on immunization
programmes for children (IMMUN) in lakhs of rupees for 63 districts of India is postulated

by the following two alternate models :

Il

Model A IMR, a, + a,IMMUN, + u,

Model B : IMR,

[l

By + BAIMMUN, + B3 IMMUN; + v,

The R for Model A and Model B are obtained as 0.6152 and 0.8254 respectively.
Use a suitable test at 5% significance level to decide which model would you prefer

— restricted or unrestricted. State the null and alternate hypothesis clearly. -

Using data on labour and capital for 123 firms. the Cobb-Douglas production function
is estimated and following regression results are obtained (standard errors are given in

parentheses) :

LN_OUTPUT = 0.790 + 0.988 LN_CAPITAL, + 0.204 LN_LABOUR,

Il

(se) = (0.008) (0.325) (0.1008)

R? = 0.979

PTO.
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( 11 ) 6007
(h) TeU T TS oftomd A Sifge 5t v & 9fmfEE SR (included variable)
P W THISAYN T A TN H FHiAd HH FG HITAC

(©) WEA W TH AUEiTH W H Wiga F 9RO @1 ded §
TETh B w A TEd @ uforH ¥ qerd #ifew

fosl AdeaTn ¥ 1970 | 2009 T A B FE-F00 ABHS (time series

data) H WEEN | g F ww w1 fFrAfefEa oo smwfaa fF mno

MD = B‘ + B:Y! v B;l\HR_\I'F, g3 “f

!

Bl
MD = Hg1 &I HIFl TE W, 3RS ¥4 Ao
Y = U 39, 3@E ¥4 H
INTRATE = 3 ®I€ & USRS foefl (wreasury bills) W =< X, Wfqew o

frafafeq aroft 8 ol & sTRfed 9H a3 IR 9w Jfeal &
¥

e TUTIRT & TaRterd W e Sfeat
CONSTANT 0.003 0.009
v 0530 0.112
INTRATE | ~0.0261 0.101

P.T:O;






(1)

Ny 4 6007

Source of variation Sum of Squares of MASS

Due to regression 7800 00
Due to residuals

Total (TSS) 1 2600 00 49

(h) Also find Adjusted R 7

(@)  What do you understand by the term Autocorrelation ? How can the problem ol
Autocorrelation be remedied if p is assumed 1o be | (p = 1) and 1t 15 assumed
that the error term follows the AR(1) scheme. that is .
e =Pl L ¥ =h & P& 1L
(h) What is Prais-Winsten transformation ? 4+1=5
oF FEEA, Y, = A + B HH_INC, + u. § Y 3 7 =ifge am s i INC,

W wfes @ (FwE #) ¥ oy fawwen w1 owdam w1 ¥ 41 G
as oLs FateEt # weEd A =g e 3 frafafeas oo wra

g :

o2 = 6219 + 22935 HH_INC, + 0.00054 HH_INC} R = 0.1148

-

1 7 wEAw faumA w1 O§Em ¥ 7 5% WewW oW wlem #ifwg qw
I (null) A IHCTH (alternate) UfTFETTEl 1 wreed: fafaw

PO,
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(3 SO
gra mFEAT ofromn i yEw §o(uEs Azl wres 4 f)
WAGH 224 8438 ~ 5.07661Q,, * 498 0493PGRAD,,
(s¢) = (66.6424) (0.6624) (20.0768)
g2 = 04540

(u'm%mﬁammﬁﬁmmmnﬁmﬁmu
(h) mmﬁmmmmmmmmwuﬁmaﬁﬁw
T TAEm 3§ AW F fAad faFe g% § 7

(c) a2 PGRAD #1278 wFT fsfea fEm = f& s &M (0. 1] % =M

W|w;.2|ﬁﬁxmaja%mnﬁagnaﬁwaﬁa%maza

S 7 #a zHE At Wdea e A ?
mﬁﬁqﬁzﬁqfafmmﬁvm%.x:nmmmskmcd
labour) ¥ A1 X, FIA AfGF (skilled labour) ¥ :

Y; aby. B,X,, + B3X;, * ByXy * 4

- -

Wd x4: r x.‘!f y x)r

mﬁm-ﬁﬁmmmaﬂhﬁﬁmmmm

£ 7 Auzmu
PT.O.
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TABLE D1

AREAS UNDE R T
Example

Pr(D= T+ 1 0) « 04780
Pr(Z 186) .08 04750
Z 00 01
00 0000 0040
01 0308 0430
02 0790 082
03 nre 1217
04 1554 1501
08 1015 1950
06 2257 2201
07 2580  20m
08 2881 2010
09 160 3186
10 3419 3438
1 3643 3665
12 3849  386O
1.3 4032 4049
14 4192 4207
15 4332 4045
16 A452 446
18 4641 4649
19 4719 4719
21 4821 4826
22 4861 4864
23 4893 4800
24 4918 4920
25 4998 4940
26 4053 4955
27 4965 4960
28 4974 4975
29 4091 A
30 4987 4987

0 028
02 09
0080 0120
o478 0817
oa71 0810
1266 1200
1628 1664
1905 2019
2024 2357
2042 2679
2000 2067
3212 3238
3461 d465
3686 3708
Jse8 3007
4006 4082
4222 4236
4357 4370
4474 4484
4573  A5B2
40506 4664
4726 4702
4783 A7e8
46830 4804
A4B68 487
4898 4901
4922 4925
4041 4943
4956 4057
4007 4968
4976 4977
4982 4980
4987 4968

0160
0867
064n
1301
1700
2064
2300
2704
2005
3204
508

aran
3025

4251
4382

4495
4591
4671
A730
4793

4808
a875
4904
4927

A94G

4959
4009
4077
4984

4088

0199
0596
oan7
15308
1796
2088

2422
2754
3029
4280
asm
4749
I9a4
4115
4265
4304

4599
4078
4744
4798

aBaz
4878
4900
4929
49460

4960
4970
4978
4084

STANDARDIZED NORMAL D15 TIIBUTION

B8
4509
49971
4948

4961
4971
4979

4085

4989

0279
0675
1064
1443
1808
2167
2486
2704
3078
3340
asry

3790
3080
4147
42602
4418

4525
4616
4693
4756
4808

4850
4864
a9
4932
anag

4962
4972
4979
4985
4989

0319
o714
1no3
1480
1844
2190

2517
2829
3106
3065
1569

3810
3007
4162
4306
4429

4535
4625
4699
4761
agz2

4854
4887
4913
4934
4051

4963
4973
4080
4986
4990

0759
1141
1617
1879
2224

2549
2852
130
3389
3621

3830
4015
a7y
4319
4441

4545
4630
4706
4767
4817

4857
4850
4916
4906
4952

4964
4974
4981
4086
4990

Note This table gives the area in the nght-hand tail of the distibution (Le. Z = 0) But since the normsl
digtribution is symmetrical about Z « 0, the area in the lefi-hand tall s the same as the area in the
rght-hand il For example, A 100 Z < 0) » 04760 Theretore, A 160 = Z < | 06) « 2(0 4750) « 005












TABLE D3 UPPER PERCENT

292
410
7 56

| 58
2 86
398
T

156
281
389
693

155
276
381
670

153
273
374
651

1.58
270
368
6 36

151
267
363
6.23

151
264
358
611

1.50
262
355
601

149
261
352
5983
149
259
349
585

AGE POINTS OF THE £ DISTRIBUTION  (Continued)

162
249
3.29
542
151
246
324
529

150
244
320
518

149
242
316
509

149
240
313
501

148
238
310
494

301
477

149
23
296
467

148
229
293
4 58

147
227
290
4 50

1.46
225
287
443

di for numerator N,

5

159
252
333
564

1 56
245
320
532

154
239
n
506

152
235
303
4 86

151
2N
2 96
469
149
227
290
456

148

224 -

285
444

147
222
281
434

146
220
277
425

146
218
274
417

145
2186
2n
410

6

158
246
322
539
1 55
239
309
507

153
233
300
482

151
228
292
462

1 50
224
285
4486

148
221
279
A 32

147
218
274
420

146
215
270
410

145
213
266
401

144
21
263
394

144
209
260
387

7

1.87
2141
J 14
520

154
204
am
489

1 52
228
2m
464

150
223
283
444

149
219
276
428

147
216
2mn
414

146
213
266
403

145
210
261
393

144
208
258
384

143
206
254
.77

143
204
251
370

Q00
[ ] 10 1" 12
| 656 1 56 168 165 164
238 235 232 2130 228
Jor 302 298 264 201
5 06 404 4 85 477 an
163 153 162 1 562 151
230 227 225 223 221
295 290 285 282 279
474 463 454 4 46 4 .40
151 151 150 150 149
224 221 219 217 2.18
2 B85 280 275 272 269
4.50 4139 430 422 416
1 49 149 148 147 147
220 216 214 212 210
27 2.7 267 263 260
430 419 410 402 3.96
148 147 1 46 146 145
215 212 210 208 205
270 265 2 60 257 253
414 403 304 3 86 380
146 146 145 144 144
212 209 2 06 204 202
264 259 254 2 51 248
4.00 389 3 80 373 367
145 144 144 144 143
209 2.06 208 201 199
259 254 249 246 242
389 378 369 362 355
144 143 143 142 141
2086 2.03 200 198 196
255 249 245 241 238
379 368 359 352 3 46
143 142 142 141 140
204 200 198 196 193
251 246 241 237 234
an 360 351 343 3.37
142 141 141 140 140
202 198 196 194 19
248 242 238 2.34 23
363 3.52 343 336 330
142 141 140 139 1.39
200 196 194 192 189
2.45 239 235 23 228
356 346 3.3 329 3.23

ot eibiihbid
of tor
anom
b S et
& Pl 1
25 149
0 329
0 05 496
01 100
25 147
: 0 323
! 05 484
01 965
25 146
i 0 318
05 475
01 933
25 145
10 314
i 05 467
01 907
M 144
10 310
o 05 460
01 886
25 143
10 307
15 " e
01 868
25 142
10 305
o 05 449
01 853
25 142
10 303
7 05 445
01 840
2% 141
18 10 Im
05 441
01 829
-
10 299
1
A 0
01 818
25 140
| 20 10 297
| 05 4 35
R 01 810

~“~












TABLE D.4

UPPER
PERCENTAGE POINTS OF THE ,2 DISTRIBUTION
Example
Pris? - 1085) - 095 25% area
95% area
é «
Pr(s? -2383) =025 fordf =20 o
Pr(,? . 3141) =005
5% area
o
X 2
0 1085 23183 3141
Degrees ~_Pr
& Smmdom N | 995 990 975 950 900
) 392704 - 10 ' 157088 < 10 * 082069 « 10 ° 393214 < 10 ® 0157908
2 0100251 0201007 0506356 102587 210720
3 0717212 114832 215795 351846 584375
4 206990 297110 484419 710721 1 063623
5 411740 554300 831211 1145476 161031
6 675727 872085 1237347 163539 220413
7 989265 1239043 1 68987 2 16735 28331
8 1344419 1 646482 217973 2 73264 348954
9 1734926 2087912 2 70039 3.32511 4 16816
10 2 15585 2 55821 3.24697 394030 486518
1" 2 60321 305347 381575 4 57481 557779
12 307382 3 57056 4 40379 522603 6 30380
13 3 56503 4 10691 5.00874 5 89186 7 04150
14 4 07468 4 66043 562872 6.57063 7 78953
15 4 60094 522935 626214 7 26094 B 54675
16 514224 581221 6 90766 7 96164 9 31223
17 569724 6 40776 7.56418 B 67176 10 0852
18 6 26481 701491 823075 9 39046 10 8649
19 6 84398 7.63273 890655 10.1170 11 6509
20 7 43386 8 26040 9 59083 10 8508 12 4426
21 B 03366 8.89720 10.28293 11 5913 132396
22 B 64272 9 54249 10.9823 12 3380 14 0415
23 9 26042 1019567 11 6885 13.0905 14 B479
24 9 88623 10 8564 12 4011 13 8484 15 6587
25 10.5197 11 5240 13.1197 14 6114 16.4734
26 11 1603 12 1981 138439 15.3791 17 2919
27 11 BO76 12 8786 14 5733 18 1513 18 1138
28 12 4613 13 5648 15.3079 16 9279 18 9392
29 13.1211 14.2565 16.0471 17 7083 19 7677
30 13.7867 14 9535 16.7908 18.4926 20 5092
40 20 7065 22 1643 24.4331 26 5093 29 0505
50 27.9907 297067 32 3574 34 7642 37 6886
80 35 5346 37 4848 40 4817 43 1879 48 4589
70 43 2752 45 4418 487576 517393 55 3290
B0 51.1720 53,5400 57 1532 603915 64 2778
90 59 1963 617541 65 6466 69 1260 732912
100* 67 3276 70.0648 74 2219 77 9295 823581

“For df greater than 100 the expression 2,7 {2k — 1) = Z follows the standardized normal distribution,

where kupr.umlhodoqnuolhndom.
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Altempt any /wo parts from each question.

| Each part carries 7.5 marks.

All questions are compulsory.

ﬂ:'- (@) (i) Explain the concept of full employment budget surplus. | 25

e

3 (i) If consumption is negatively related to interest rate, how would the IS curve be




lad

(b)

(c)

(a)

(N

(#i)

(1)

(41)

()

()

Assumption of rational expectations renders monetary policy ne
respect o national output even in short run. Explain with the help of |

curve.

Explain why errors of rational expectations are on average zero.

According to Friedman, the trade-off between inflation and unemp

only in short run. Explain.

Discuss any rwo sources of business cycles sugpe

sted by Lucas.

What do you undefstand by sacrifice ratio in the traditional Phi

approach ? g2

Show that Adaptive Expectations Hypothesis allows us to relate unobser

expected variables to observable actual varjgbles 388



3 9 7561

B (@ Assume that capital is perfectly mobile, the priee level and the exchange rate is fixed.

Answer the following :

() What is the impact on the level of economic activity when there is an increase
in money supply ? .
(1) Show that an increase in government expenditure is effective in raising the level
of output in the economic. 4,35
(h) ()  What is the 'automatic adjustment mechanism'? How does it tackle the twin deficits
k in an economy ?

(1) Assuming fixed exchange rates and flexible prices, explain the effect of devaluation
on an economy. - 43.5
Managed Floating. - ‘“ o T
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hﬁ" :  Answers may be written either in English or in Hindi: but the same medium should be
used throughout the paper.

huwﬂ T OE-TA H SN SO W e o v A e o ol W
oeEE T € e e |

Attempt any rhree questions in Part A.

Attempt any fwo questions in Part B,

Simple calculator may be used.
am ‘e’ A R dm oww @ sw difs
wmE A AR R owe & sw S
RO Hhehelel 1 T HT gha §)
Part ‘A’
(\m “ar)

() Abdul’s consumption bundle consists of food (F) and Leisure (L).
week to allocate between labor and leisure. The price of food is



(41)

(sif)

( 2

hiswxsq;eraueisRupeqrsspt:rhour.Anywagt:immm:ubow:R,;.,,e',,‘00

10 a tax of 50%. Write and depict graphically the budget constraint by sp,

slope of each of its segment and also mention coordinates of the a;‘.-,, X

Vinita likes both tennis rackets and msahowmd would Iiketo

mcmomenl,slr!nsmanyofboﬂlmdbﬁmpﬂmeaf ibstitutio

herself better off.

Mala is very flexible. She con
| don't care, | can’t tell the difl
8 units of x and 17 units of y. The pri
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(i) mmmmnxmymmmnmm"gwmmu
YR, TR T T ¥ W A R e sim T ww W gl d
xuﬁsmsﬂimyuﬂnmwiﬁmumhxﬁmylﬁ'm-
msumtIWxsmyuﬁmm!ﬁwﬂwmmmtmm-*-
W 3 P W T ¥ oWy W e g W o wd 2

() T I F QA oaeqd x 3l ) @ o IR e U, ) = 2x ‘
(U)'QWWWtIMWlooomtm Px-'*‘*"‘"" s
AN T TEaH IO G W FE s

() Which of the following utility functions satisfies strict convexity?
@ U, ) = 32 + (13)7
() U(x, ») = min (2x + 3, »)



(i)

(iti)

Q)

(if)

(i)

are two goods X and Y. In the current year, prices of these goods are (§

he current year 15 (25, 25) while her consumption by

There

Bela's consumption bundle in t
e better off in the currem

in the base year was (20, 30). Has she becom

not 7 Explain.

and Engel curves for commodity X for the following |

Derive the income offer curves

functions, assuming P, = Py = |

(@ u(x, y) = max (2, 3y)

b ux,y)=x-) 6+54
ﬁqﬁf@aﬁﬁmmwmmﬁﬁgﬁzmt:
@ Uk y) =32+ (1/3)y2

®) U, y) = min (2x + 3, )

mﬁmmmﬁmﬁﬁﬂtﬂml

o @ aegd x @ v & wdem A, gl w10 # -
& a1 I0m dEa (25, 25) &1 VAR SR F¥ # I9wm qzH (20,

e aE ade wd # sfum e g ¥ W A 2 wwen #Hfww)
firm fe Ty ST Wer @ fA S R @6 a9 X awg # fay
s #ifg) " et 6P =Py =1 &
@ e, ) = max @5, W) .

(b) ulx, y) = x =Y. Wi
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Is Strong Axiom of Revealed Preferences (SARP) a necessary and sufficient condition

for well behaved consumer preferences 2 Explain your answer

Show how indexing of social security payments for inflation increases the welfare of senior

citizens receiving these social security payments.

A consumer has the utility function : u(C,, C,) = C,.C,, where C, and C, w
the consumption levels in period 1 and 2 respectively. He earns an income of 1,00,000
in period 1 and 1,29,600 in period 2. Assumethatthemterestmteu%p'm
and there is no inflation. If the objective is to optimize the consumption choice ov 1
find the optimal consumption in each period and determine if an epﬁmfm;

is a borrower or a lender in the current period ?

TN TF A fa¥ (Well behaved) ST SHaM # folu SARP W& 3a¥
| vd § 7 394 I W TR HifAQ '

mﬁﬁw-mﬁﬁ%mmmmmmw. =1
mmwwwﬁmuﬁemtmﬁw

TF IOEN F ST WER : u(C), Cy) = C,.C, &, “
| & 2 & 39dm @@ W zel € 9% @ty 1§ 1,00,000 #
# 129,600 F1 33 FE ¥ WA g fF =W w 8 ‘
wHifs i ¥\ afx SRea T @ T IV T D e

# yeam I9dm 9@ #ifag a9 gg fvifa MN
ITvEE wdeE Efy d fEn ¥ oW m';}.,‘&:,‘;f:, 0
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(1

(i)

(i7)

s
ol

( G5 83
person to purchase insurance on the .

! .

Why might it make sense for a risk averse

hand and invest in the stock market, undertaking risk, on the other hand ?

A person expects his future earnings (W) to be worth Rs. 441, when he is he al

If he falls sick. his expected future earnings will be Rs. 36. The probability of

sick is 2/3. His utility function is U(W) = W72 Suppose that an insurance

=

offers to insure the person against loss of earning caused by illness for an ac i

fair premium. B
(@) Will the person accept the insurance ? Explain in terms of changes in the -af; ;
earnings and expected utility. '

(b)) What will be the value of fair insurance if he chooses to buy full ins u

(¢) If the price of the insurance is 75 paisa for each rupee of promised bene

much insurance will he purchase ?

ﬁ@mqﬁmaﬁaﬁa%mmmﬁmtﬁn%
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Is it possible for the input demand to fall if the price of that input fa
answer.
Thccostﬁuwnonofaﬁrmumbyctv,w,q)

represents the quantity ofoutputmdp_im_d}” e nd ce










































































































































9. {a)

(b)

(=)

(=)

() (A- B) &1 famw wamy
@ P (-1 <(A— B) < 1) " ifiw

Suppose X and Y are two discrete random variables which have the joint
probability mass function P(X,y)=(x+2y)/18, (x, y)= (D)A12), @D, R2),
0 elsewhere. Determine the conditional mean of Y, given X=2. Also find the
two marginal probability mass functions. Calculate the value of E(3X-2Y).

Let X denoles the storage capacity of a new pen-drive that is launched in
three models that differ in storage space. Market survey shows that 20%
customers buy the drive with 20GB storage space, while 30% buy the drive
with 40 GB space. The rest prefer the model with 30 GB space. Derive the

sampling distribution of average storage space in a pen drive using a sample
size of 2, with random sampling. (5+5)

# i fF X 3R Y @ swaa agfes w € e w8 v agam mitea W
GFI p(x,y)=(x+2y)/18, (x, )= (1,1),(1,2),42,1), (2,2), 0 21 Y& awfcan #rea st
o FIT AR X=2 B @ A @ IUd WidEwdl WE hawE @ e W
w1 E(3X-2Y) & 99 7 Fifow)

W A B X A ¥-gEa 9 ©Rw PRE T gvian B R A e A 1w
fora T 2 Forerall wRe DARA - e 21 aom wdem / g @ @ R 20
WeF 20 A @RS RIS AN zEa WA T, WAk 30 WeS 40 TR TR
PR 7 rga @A 21 AW 30 WA D W QA Asw N wEE D ¥ AGfRIH
el @ a2 uRed SR @ AR FA T T IT-FE @ S R W
1 it sew et
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g probabilities cont.) .
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This paper consists of 8 questions.

Attempt any five questions.

The marks of each question are written alongside the questions.
The use of non-programmable calculators is permitted.
WA o 4 8 WA €I
farl wier w1 i
T WA aim IEE T fed g ¥
Ff4-omEe g H AN i B
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((l)

(h)

(@)

(b)

(@)

(b)

(a)

(b)

. show : ]
() low incomes are sticky |

.i
(i) no mobility at all. 7‘

C %)
| well-being of a nati b
.rial well-being ol a nation s ¢,
e 1S Capypeg i ‘
I

I'xamine the view that the state of mi

! ) -
a (Gross National | roduct.

accurately in its per capil m

¢ robustness of Mean Absolute Deviation as g measuy
of

Comment on th

inequality. 5

Sﬂmﬁaﬁﬁmﬁﬁﬁwﬁﬁﬂﬁﬂﬁwaﬁﬁwﬁaﬁmm%j
mn@nwﬁuﬁéﬂﬁwwm%a j

mﬂmmﬁmﬁmﬁmwﬁrﬁmmﬁm@?mmmi'

Despite improvements in health and income over time there have been severg|

catastrophes which have reversed progress. Discuss. i

Explain the concept of mobility matrix. Construct imaginary mobility matrices 1y

wmﬁnmﬁﬁwguﬁ%aﬁqgﬂmﬁﬁaﬁﬁ(ﬁuﬁa)wﬁgﬁ
A HIfe | '

Tfaeitera Afeam #1 @URI & AR HifST

e

(i) fm sm sferfaw §, i
(i) ¢ R nfoefiern € ¥,

I T g e e A w fuin i)

e






N

-

iy

The table below shows the income per individual per day in countries A and

Income per individual per day (in Rs.) x

(@)

(b)

the countries.

and give inequality rankings.

Individual 1 | Individual Il | Individual 1 Individual 1V | Individual v "'di\idm
Vi
Country A 100 200 110 110 150 o
Country B % 125 200 175 150 160
—

% |

Calculate the Gini Coeflicient (GC) and Coeficient of Vanation (CV) in both the com'

10

Assume the poverty line as Rs. 120 per capita per day in both countries

Calculate the Head Count Ratio (HCR) and the Poverty Gap Ratio (PGR) in bo

L

frafafea aifde A w8 B < 2wl § wfd =afea wfa feq omg =1 <vifar § .

vfa fe wfa =afam sma (vug @)

=fed | =fe 11 =afed 111 =faq 1v =fa v =fed VI
29 A 100 200 10 110 150 200
B 0 125 200 175 150 D
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| used throughout the paper.
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Attempt five questions in all.
Use of non-programmable scientific calculator is allowed.
HA U Y & I SIS
g A AR $ IEm # e ¥

Assume that people have preferences over health and they demand healthcare services only
for 1ts ability to give the desired health. Both health and healthcare services are normal
commodities. For the production of an additional unit of health, 0 units of healthcare
services are required. Denote health by 4 and healthcare services by s. The price of the
generic good ¢ and that of healthcare services are P_ and P respectively and P_ = p,
“ 1. Markets for health. healthcare services and of the generic good are perfeclly

Competitive,

P.T.O.




(a)

(b)

(c)

(a)

(b)

(¢)

¢ 2al
6(J||

Derive the budget constraint of the individual with income m. Show it diagmmmd
iy

along with an indifference curve with 0 = L.
}
th income m. Analyze using approprigte 4 |
d
lag‘mm5

divdual's health status to 0 = 5 :
1 bo

1

Assume 0 = 1 for an individual i Wi
¢ worsening of an in

and explaining briefly th
§) space. Make necessary assumptions,

the (¢, h) space and the (c

Give the income expansion curves for :

(/) healthcare services as a necessity,

rvices as a luxury good. ]

m%@nwaﬁﬁwaﬁwéﬁ%waw@wa@w@mﬁ
ﬁmmwmwﬁﬁmﬁmm%lm
ﬂﬂlﬁl@@ﬂﬁﬁﬂmaﬁi%lwaﬁﬂﬁlﬁﬁﬂmﬁa}m
imﬁmmﬁﬁemaﬁm%lwaﬁhm

amwmé@ma@maﬁaﬁsmﬁ%ﬁmaﬁléﬁﬁﬁaﬁcﬁm

Pfamlaﬂmamaﬁaﬁaﬁuﬁps ¥ qm p =p =1 R, T

é@%ﬁﬁmaﬁam@%ﬁﬁ?a@aﬁaﬁquﬂfmﬁ%l

@wﬁﬁémmmﬁmﬂﬁmﬁmm%w@m
Wﬁm@mwme=|%| |

(i) healthcare se

() b4 ﬁEITDf Waﬂ 2 =Y ﬁ,
(i) @ Fard foenfgamgel wwgsi & wg d)
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, (a) Consider a situation where (hree drugs

-

are available to treat a particular disease.
> probability of avoid;
The probability of avoiding death changes as follows

() For Drug 1. from 0.2 to 0.24, and it costs Rs 10 per treatment;

ify For Drug 2 ,
(if) g 2. from 0.2 t0 0.27, and it costs Rs 7 per treatment;

(i) “For“Drug 3, from: 02 to 0.38, ‘and it costs Rs 5 per treatment;

Calculate the cost-effectiveness (C/E) of each drug. Which drug is most cost-

lad

effective ?

(b)) What according to Deaton and Dréze (2009) are the reasons for the paradox of
rising per capita consumption expenditure and a fall in per capita calorie intake in
India ? 12

@ TE feafq # weam #ifww e fEd faem dmd $ I9ER ¥g 3 ARl
e §1 gg A 991 # wfgwa feAfafed @ o

() TIE 1 ® fag, 02 ¥ 024, FM TWH NG 10 FIA WA ITER;

) TAE 2 & fag, 02 § 027, AW THH @FW 7 T WA STEK;
iy AR 3 ® fag, 02 ¥ 038, TW TH AW 5 T FA ITER
e o @ fou wn weifaswdl HOTOE SIS wEE gaE sfus
amawraﬁ%?

b) Feq 3R 29 (2009) B FIER WRd H Wed g Ufd wfe Sudm =
am wfy =afdd sad & A # fgae & fawvy™ & & SR’
¥ ?

IO




'ad

(% 4
hl)['
; ' 1< whose number Is normalize
a population ol dividuals alized o )
£

Suppose there 1s
are immunized. The probability of
0"“’duin@

n e [0,1] be the fraction of individuals who

an infectious disease Is given by pmn) Py (M 1)? . where p, is the pmbubilm ¥
contracting the diesease when none in the population is immunized. Assume thay the
vaccination provided is fully effective. Individuals are indentical in all respects ang the coq
of illness is assumed to be the same across all individuals and is equal to pe The
marginal cost of the vaccination is a constant, ¢.

(@) Derive the pnvate and social marginal benefit. What 1s the relationship between (he

)

two 7

() Show diagrammatically the private optimum and the social optimum. 4

What are the possible reasons that make government/policy makers pursue full

5

(©)
immunization ?

A st =fEE #1 ue OgE € fagel 9'm ameigd e UF ¥ R
A ne (0] ARG w1 € W T, SN AfRfEG €1 T THEEE I F gy
B8R & Gifgewd pm) p,,(n—/)-‘,aﬁ‘mﬁ?ﬁﬁﬁaﬁ%,ﬁﬁﬂ,ahrﬁ
J TE A F UGS & 9E SHEen d ¥ o ufadwa 9 ¥ um
d f& deen @ e A uwEl T oAfd 9t vell § wwame § oAy
SH # A Gt AfFad B uEeEE R SR 1 R s ¥ demm &
ﬁﬂfﬁ?ﬁﬁc%@ﬁﬁ:ﬂ?%l

(a);ﬁﬂafnmiﬂﬂiaamﬁﬁﬁaﬁmléﬁﬁaﬁwdﬂ
)

|
|
|
|



g B 6011

Using appropriate diagrams. analse .
(@ -y SFmS. analyze the effect on relative wages of females to males

of :
() A decrease in the number of non-discrintinatory employers. 4
(i) An increase in the discriminatory preferences of employers. 4

4 cati C > . . .
() Students’ educational performance may not increase just by increasing monetary
resources. Improving teaching quality is critical for this. Discuss. 7

@ STF T FOWEM FRY qu frefafan fofed § afeenst @ ged
H TUEFE TG W BN A g @ favemm #fm

() WRvwEa Wea el #1 e 6 w9
@) A= #1 SRwEg aig@si § @ ofs
(h) Faa Wiew FErEl § gfg @ @ famftl @ weyRm § gfg @ @
t hdl gl fEo w1 quEw § gurR soe fau weegel ¥ == #ifEw

t (a) Calculate Human Development Index (HDI) with the following data : Life expectancy
B (years) : 69.3, Mean years of sheooling : 6.9, Expected years of schooling : 12.8.
Gross National Income : (2011 PPP §) 15,509. [Hint : In (75000) = 11.23:

In (100) = 4.61; In (15509) = 9.65; 30.3381 = 0.6967). 3
While creating the dimension index for a decent standard of living. why is the natural
logarithm of income being used ? 2
Discuss the link between demographic and epidemiological transitions. In light of this,
explain the major health challenges faced by any economy, 10

PO,




(a)

(b)

(¢)

(a)

(b)

(a)

(% )

fil]“

frefafad 3isel Hi HeAd @ wrAa fawd gIHE & o, s
S wearen (et H): 69.3. T foiedl & g 9y 6.9;&%&‘3%&;
2 o : 128, GG TS @ @ (2011, PPP $) 15509 (e L
_ 11.23: In (100) = 4.61; In (15509) = 9.65; Y0.3381 = 0.6967.

o S W B AE & fo TAE GRS TR, 5 F ey
quﬁﬂmﬁmm%?

wif@ﬁﬂammﬁm?%ﬁﬂmaiaﬁaaﬁm@maﬁ%l
mwﬁ,ﬁﬁﬁa@mﬁﬂ@ﬁmﬁmw

AT |

Consider a village where individuals are expected 10 live up to the age of 75 yea
However, there is a disease which is detected only at the age of 15 years, ot
before. This disease reduces the quality of life of a person to 0.75 of a year fy
the first ten years of the disease and then 0.04 of a year till the age of 35, resulting
in the death of the individual thereafier. The government comes up with a progrn
which treats this disease at the time of detection only. and then the person can live
up to his full life. Calculate Quality Adjusted Life Years (QALY) saved per pers:
for this treatment.

Hin (s

Explain briefly the rhree methods used for valuing the benefits of health project

w# g & SR H four FifGe @ afwE w1 ey sied 75 @
¥ | Telfe, 9@ & SHR € fme v@m dew 15 a4 @1 oy A A
A W OFHA T, I UEA T | 3§ Am P Ued g9 U@ AR
# e # A TE 9§ @ fAw 075 9O SEH W@ 35 W A A
Th TH TH K TOEA 004 A W ¥, W IHH W 39 A @
O AR F GG A TR ¥ WEHER wF Fwy F e o & 0
-ﬁwﬁ%wmﬁ%mﬁ‘émwm%aﬁhﬁ
o s g e T e w wEy ¥ s sweR @ ™
T Wi SR Quality Adjusted Life Years (QALY) # TR #ITU






CEyY) "
(mmmﬁwm@mmmﬁmam,\m”
40-05LaﬁL»m¢ma@ﬂmaﬁmﬁmamMm
aﬁ@uﬁaﬁﬁwm%laﬂmummaﬁm
ﬁqwﬁw@azor@gﬁm%éﬁqﬁwﬁﬁﬁmﬁ%
A Yoy F ¥ R TE R T, D!oﬁwfaaém%.w
ﬁmamm&WﬂAmﬂmﬂmmmﬁm
s & F@ 2a ¥ 2 e A fadde & FRO A oy g
;WM ' ?
(c) %ﬂsaﬁmwﬁzmmﬁmﬁﬁm
8. (a) Define occupational segregation. Does it reflect labour market discrimination ?

briefly how we measure occupational segregation.

(b) Discuss the arguments regarding the role of education put forward by both the

Investment".

(@) SEafaF  Ferd &1 URfya #ifSe) # 98 g9 FR $evE
Yfafsifad #3d@ £ 7 A@EEIAE HE H1 A9 B GiEA A HIWEU

b fom & 3@ & fama § q sfveemst femfan’’ g faee §S e
g W&d d&i ®1 GHY H A &ifw |
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Noe : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.

M:—ww—wmwmm%ﬁﬁm@wﬁaﬁqqﬁjmﬂm
1 HEAH Th T el wifedl

| Attempt any five questions.

The distribution of marks is given with the question.

| frdl uta v B S AR

sl @ faqm e & e foa g ?

een monetary aggregates and liquidity aggregates of the third working

I (a) Differentiate betw
group. What is the basis of this differentiation ?

oney, theoretical approach or empirical

9,6

(5) Which approach is better for defining m

approach ?
P.T.O.






(@)

(b)

(@)

(h)

(a)

(b)

L3 J 6015
Why is asset securitization an ex:
Y Nan example of market intermediation ? In what ways can

securitization reduce the cost of funds for the issuer ?

iscuss the role of margin reauireme e
D margin requirements in future contracts. “Futures contracts are

leveraged instruments that can be used to control risk”. Elucidate. 8.7

gftgmafa uﬁmﬁw (asset securitization) a9 ] YAl (market intermediation)
&1 e H ¥ ? Uﬁ‘{ﬁw, SR FA 91 (issuer) #d ‘iﬁﬁ (funds) %1 ST
#F fF9 YHR &9 FT gFa ¥ ?

q-'qa’d 3 (future contracts) T I SEvaaHAIsT (margin requirements) Ealb el
%1 faa=m Fifow) ' w=d s, IHET (leveraged) 3TFT & foreht Hergal |
sifem =+ faf=a e s gwa 21" 99w

Assuming the market interest rate is 9%. determine the price and yield of the
following :
(1) A Rs.10,000 treasury bill that matures in one year.

(2) A Rs.1,000 coupon bond that has a coupon rate of 10% and matures in one year.

Using demand and supply analysis illustrate the impact of the following changes on the

interest rate a firm pays for loanable funds :

(1) An increase in firm's default risk

(2) A decrease in the liquidity risk of the firm's bond

(3) An increase in inflationary expectations :

(4)  An increased uncertainty about the future tax treatment of interest income. 5,10

RTIO.
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(a) uﬁmﬂﬂ@ﬁmﬁm“%%'ﬁmﬁm‘Pfice)aaf.,

(b)

(a)

(b)

(a)

(yield) 9T Hifoa
10.000 & &1 T Tsrhr faed (wreasury bill) s foF s ad b ufigg -

T

1,000 ¥. @1 T HIT FIHA (coupon bonds) foael oA 10%%aqu

(1)

(2)
N TH T4 # R @4 R

qim & Mg favemm # gemw@ d FH F g0 F7 (loanable funds) T # w3
mﬁﬂmmmﬁqﬁf@ﬂwﬁaﬁﬁwmmumﬁ@m;
(1) W F gfTaE-gF e (default risk) 7 IS
) w4 & HOOH F aed SEm § HH

(3) wHifa # wemn § i

4) =9 QA M A I W oA § @ A R o i | 3

In the long-run, an output target is a "quixotic" goal for monetary policy but price level

target is achievable. Explain.

Differentiate between money supply and interest rate as intermediate targets of the:
monetary policy. What properties should the variable have to serve as an inte

target of monetary policy ?

< #, IR w1 A Wiz N 2w sreEwieE (quixotic)aﬂ? :
HIHA-FT 1 4T WA (achievable) ¥ Ty |






6015

(a)

(b)

(a)

(b)

£ +6 )
3015

What is transmutation effect ? What are the various services and economies m
ovj

by financial intermediaries in the mobilization of savings ?

Do you agree with the view that the preferred habitat hypothesis combines key fey -

s ? Give reasons in suppor of

of the expectations and segmented markets hypothesi

answecer. 6
)

®Y=R Y@ (Transmutation effect) T & ? fada el gl F9dl & G 4

yer &1 o aret fafy= Jard 4 fiqegfaard (economies) FI-HI £ 2
1 a7 39 faar @ wewd € f afferfaa watard 9Reed  (preferred habi

hypothesis) TR (expectations) ggahd deT (segmented markets)

%g@a&wﬁ@d@ﬁam%?mm%mﬁﬂﬁwm|

-
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Discuss the “Nehru Mahalanobis Growth Model” as adopted in India during second five Yo

'« of India’ i ith th Ids’ |
plan. Give a comparative analysis of India’s Economi€ Growth with the worlds” best per[‘()rmmg
economies between the period 1950-1992.
@mmﬂumawm@@“mmﬁﬂm"ﬁm
FIfFA1 1950-1992 i srafyy & o= fava @ He YeyiH A Al Al

3 oy yRd sdegere & fa@wd  feafa &1 JAHSD fagetom Fifey | |

“India’s potential for high economic growth is certainly a major asset for the country’s developmen

Efforts to enhance its performance musl remain an important priority, along with improving

Human Development Index.” Do you agree 2 Give reasons for your answer.

uﬁg@ﬁﬁﬁmﬁmwﬁémﬂﬂﬁﬁaﬂw@%ﬂﬁﬁmﬁ
m@gg@qﬁqqﬁq%|mmhﬁgwﬁ$m%mamaw_
Wmﬁgwmwmmmﬁm " S Y e
£ 7 o IW H FRU ST

What are the causes of mortality and fertility decline in India after Independence ? In this

context explain India’s Demographic Transition and its impact on socio-economic development.

AT @ 9% 9 ¥ U @ AR YR adl § hH $ a-a FR0§ 7
=g ded f URG H AN GHUU H qUA e SR - i
fawd W 3WH YWE H A ST

Examine the factors responsible for inequity in access to basic health services in India. Sugges! |
suitable policy measures for enhancing equity for access to basic health services in India-
o # gl wre desl B g A srouem @ fou foier w0 A
qiem Hifaw | Wﬁaﬁmwﬂmﬁa}qﬁaﬁmaﬁﬁmi
ST Afe ger <t
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This paper consists of 8 questions.

Answer any five questions.
The marks of each question are written alongside the questions.
The use of non-programmable calculators is permitted.
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&% T # % e g KT M gl
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In Country B if Rs. 10 is trapsfered ¢
nsferred from the first individual to the second individual,

; does 1 { i v
how does it affect the Income Gap Ratio » Einlabn yoikc-46 -
t £ dNSWCT.

p) Discuss briefly the measure i
(%) ¢ of poverty tha captures the extent of inequality among the

or.
po 3

(¢) Discuss the difficulties involved in setting an international poverty line. 5

(@ frefafad aolt & A ol B @) 9% w1 wfafeq wfy s1fEm s | <ot T E
3 <¥ A TS Y@ wfa =fw wfafem 120 v # 9w et (S &
T T H T A R)

_—
ufq =afem wfafer ema (w3 ®)
afe ) | aafemn | sfmm | =f@m v | safm v | &=\ v
——e_m A 100 200 100 110 150 200
W B 90 100 150 100 150 200

(i) 2T 29§ R A ST #1 o e @ fhe e s |
for it 39| W FE S AW ?

Gy S Wi # S SRR ST H MO I

ﬂﬁémBﬁgmaﬁaﬁ@qmwﬁaﬁmmmmﬁmm%ﬁﬁug

mwwﬁmmnmm?mﬁmﬁmﬁm|

(b) ﬁmﬁﬂﬁﬁmﬁm@lﬁﬁhﬂﬂﬁ%ﬁamﬁﬂﬁaﬂhm

Gl
(c) @m@ummﬁmﬁmﬁamﬁwaﬂhﬁmr

P.TO,




(a)

(b)

(a)

()

(a)

(b)

(©)

(4 ) LRY)

n as the deprivation of basic capabilities rather than Merely 4

“Poverty must be see

insufficient incomes.” Discuss. g

Discuss the dynamics of wealth inequality in Europe and the US in the 20th century, 7

el ) B HETE @ B AW IR graisll § afed 81 % €9 § 3
S =ifeq)”’ wATE i |
ot v i T o & wwfe § s F i w1 sy
i |

The economy of Solowia produces output using capital and labour. 1f the labour force |

grows at 3 percent per annum and the labour augmenting technical progress at 4 percent

per year, how fast would the effective labour force grow ? ]

Solowia’s production possibilities are defined by its production function relating output
per effective unit of labour (y) to the capital per effective unit of labour (). As long
as k is between 0 and 4, each additional unit of k produces one-third additional units
of y. For k between 5 and 11, each additional unit of k produces one-seventh additional
units of y. After this point each additional unit of k produces one-tenth additional units

of y. What is the capital output ratio at k = 3, 7 and 12 ? 6

What do you understand by the level and growth effects of parameters that explain the

dynamics of the simple Solow model without technjcal progress. 33



(s )
7370

@ Wﬁ“m*ﬁ@ﬂﬂ%mammamﬁmw

3 g AT A A ¥ o sy e i 4 e shed #

(p) T T IR FewET I W s o g v g wa g we
g9 (k) ® I A TAfya IarA wer A fuifa A $) w@ 9% k0 A 4
3 @9 R, ©F sfafem & 4 ) B ww foerd aifafea sEEal @ Scd w0
B SE kS 11 H A9 R kw ufa swE ) w0 1/7 Afafea gwEdl F SR
FW@ T TEH IRk H WA Al ghE p w1 1/10 SAfafE gwEA H S

F@ E VS k=3, 73 2¥F A TR IR I =R ?

(©) qUevE ® WX UA faE W@ ¥ AU 1 GEed § S akAis! fawE &

A & YR HEd F Mfavie @ aviH & §

6. How can technical progress be classified and what are its implications ? Explain economic

growth with technical progress stemming from deliberate innovation fostered by the allocation

of resources to R&D activity. 15

mm@mmmmmm%mmﬁmﬁwm%?
mqﬁﬁmm«mﬁﬁmmmwmaﬁwﬁm

|
I
|
|
|

TRy @ e Snfde A @ ST Hie

P.T.O.
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This question paper is divided into two Sections A and B.
Each question in Section A carries 15 marks and
each question in Section B carries 20 marks.
Attempt any one question from Section A and
any three questions from Section B.
a8 gE-uF ‘e’ ol ‘' @ mvEl d fawfem ®
m‘a'ﬁmmwaﬁm%aﬁ(m‘a'ﬁ
q&F YT 20 3H B T |
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5.

b @9 7371

istinguish between “primitive ac B
RBanng P accumulation™ and “expanded reproduction™ ? What role did

they play as *fixes” for the capitalist crisis of the 19705 6+14

yafah T SR TR e’ # 9 wwe #ifm ) 1970 @ o @

Discuss Schumpeter’s critique of neo-classical (Marshall-Wicksell) analysis of the capitalist
system. How does his concept of “creative destruction” alter the understanding of capitalist

dynamics ? 10+10

Iefieel WOell & FE-¥MEHA (Marshall-Wicksell) favermr &1 ypfier 5R1 1 T8
el il == Hifew | Yol fariioa &5 g 8 fmm we S TEeE
forer’ &1 Hheda UfEdd ot § 2

Explain the different sources of economic crisis. What role can the State play in preventing

such crisis ? 15+5
At dFe & 9= Odi F gUSEU | U8 H&e @ UFA B TeE Hi
g & 2

“Capital calls the tune by which the state normally dances but takes for granted that the
state will provide the theatre within which the performance takes place.” (Robert Heilbroner)

Discuss. 20

“$ o5 o Sl ¥ FE W TS SR TR §, WY A e
%ﬁmmmﬂﬁ%mmﬁmﬁﬁwm " (T EERET)

= Hif |
PT.O.
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qu}ﬁﬂuﬁﬁﬂmmmam*;

(i) Yenfora @ @uiEe @
() S S @ @l

(aa)aﬂrdﬂiﬂ'ﬁiﬁi

(i) @ @ sl gide SR wl e e R I AT WA T sy
T R

ization (7.5)

7. (i) How does GST satisly Fiscal Autonomy and Harmon

y discuss with diagram a Matching Open ended granl (7.5)

Bﬂﬂiiﬁiﬁhﬁﬂ*ﬂﬂdﬁﬁTaﬁIﬂMTﬂﬁlﬂﬁ'aﬁH%ﬁiﬁhap

(i) Briefl
(i) e ¢ 0 aR gl
A B

enth Finance Commission approach vertical and

8. (i) How does the Fourte
(7.5)

Horizontal imbalances.

(ii) Briefly discuss the main option for the VAT assignments (7.5)

dteed fa= anﬁnifai&tshraﬁta:yﬁgaﬁfdﬁirﬂarétqﬁ?am1gﬁzqaq'aqmw
27

(i) VAT® mﬁ%ﬁqmﬁﬁﬁuﬂﬁﬁ|

(i)

(500)
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() TF AR TF F el 9 wwemw) seet fagwad @ § 2
(@) FAYAR TH F WEEA@ A Il wqem e

(@) What do you understand by the law of variable proportions ? Explain the significance

of three stages of producation for a firm.

8.7
(%) GREdE sud B fam A smw o T 2 ww wd & fau
IORA HI dH FATEsli & Wew # GHIEU

(h)  Explain the sources of internal economies of scale.

(@) A H Jafw a=9d ® wa Fm-Fm 2 faamm difsm

(@) Calculate the TFC. TVC. AFC. AVC. AC and MC from the given data

below :
Output (Q) 0 1 2 B 4 5 6
Total Cost (TC) 160 190 200 205 | 215 | 235 | 280

(h)  What are the conditions of equilibrium for a competitive firm ? Show diagrammatically

a firm's equilibrium in short run in a perfectly competitive market. 6.9

(%) few @ #HS ¥ TFC. TVC. AFC. AVC. AC 3R MC ¥ wife

3ARA (Q) N I 3 4 T

Hd @ (TO) 160 | 190 |200 205 215 235 | 280

(@) wF wfedr &4 & fow Gged H F W € 2 T g wfeEndt amm
i ws wH @& ey Gged w1 e g gwizw)

PO,
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Answers may be written either in English or in Hindi; but the same medium should
used throughout the paper.
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This paper consists of 8 questions. Answer any five questions.
All questions carry equal marks.

T 599 U7 8 §¥A &7 8 | (Fl vl yvAl & Io¥ AT
gt gv & HF GHA 81

What is production possibility frontier? Explain how each of the following situatic
affects nation’s production possibility curve:

(i) A technological innovation allows nation to produce more of one of the good
(i) Prolonged recession increases the number of unemployed workers in the nati

(iii) The quality of education in the nation’s colleges and universities impro
greatly.

Explain the central problems of an economy. How does a mixed economy solve thi
problems?

IATe HTEA 9% 4 ¢ 2 frefated § ¥ 5@ sEen fR YaR w29 ¥ 3w
WA a Y NwifEa & 8 2 avia i |

() @A GUR AW A UF qE F I H TgA A A FHTA 1 |

(i) ot w30 A R N aGE ¢

(iii) 2w * werfaEnerdl i favafommedl @ fen 1 @ S AW )

T adfeaen i FAE wHenel & aviA Fife | uF A srderaen @ awe
a;tmuﬁﬂ;ﬁaﬂ'cﬂi? |

P. L3






@

5. ()

(b)
(30)

@

™™y

(i) " T R g )y a1t

TURIH oz ) ¥ X@I‘hq\; ﬂﬁﬂ:wmmﬂuﬁm
m) HH
( Ei“;"‘"IY“*ﬁl ﬁﬁ%msaﬁwﬁwﬁﬁmtmmaﬁq

Discuss the concept of diminishin

Di ‘ g marginal rate of technical substitution. What do
it imply about the likely shape of

iso-quant curve?

How does a producer attain equilibrium? Explain using iso-quant and iso-cost line.

uedl g8 W wiwemen @ aE
TH F AEHR F AR ¥ ¥4 Fadt 302

U% IO §qe &1 fauior 8 s 2 w0 3w 9% w@ W ane % @
HHYRIET |

6. Calculate Total Fixed Cost (TFC), Total Variable Cost (TVC), Average Variable Co
(AVC), Average Fixed Cost (AFC), Average Total Cost (ATC) and Marginal Cost (M
from the following table:

Output 0 1 2 3 4 5 6
Total Cost 20 30 35 45 60 80 110
(i) Suppose market price is Rs. 20. How much will the firm produce in the short rus
What are total profits?
(ii) Suppose market price is Rs. 15. How much will the firm produce in the short rui
What are total profits?
frfafaa @it § & TFC, TVC, AFC, AVC, AC 3 MC &t morn #ifse:

b 0 1 2 3 4 5 6

7 T 20 30 35 45 60 80 110
() wF SifTg SR #E 20 390 2, @ W sevEE d fRa Iaed U 2 e o

1 g ?
(i) WF Sife aT9R HEd 15 703 2, @ G Aeuswe § fHEan s Ui 2 F@ o

fram 82 &

P 1.G





















ion paper contains 4+1 printed pages|

s 4
RO“ No_
anucslion Paper @ 5244
,;‘dll.?-
I pager Code - 227351
lnlll“‘PIlpL M O o G
wncﬂ“hc Paper - Principles of Ma"mecmomics -1
Jm‘,orme Course © B.A. (Programme) Economics Discipline
\
- I
nester

e ion’ Three Hours

Write your Roll No. on the top immediate

Maximum Marks : 75

ly on receipt of this question paper.)

@ T F T W S e i e w s s e 1)

Answers may be written either in English or in Hindi:

Note
used throughout the paper.

F WEH TEH & OB Afen |
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All questions carry equal marks.
FA g GvE & W STy Tem 1 sfEd ¥
Y TeN 2 9 8 § A feEE Aw g &1 Iw e
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(@) Measures of Money Supply
(b) Full employment Budget
() GDP and Social Welfare

@ Open economy multiplier

but the same medium should be
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H244

- the Ce bank w: STy :
If the central vants 10 expand money supply. how it will use the instruments

(o increase the money supply | xplain your answer

what will be the amount of credit create

(h d In the economy if the amount of initial
deposits with the bank is Rs. 20.000 crores and required reserve ratio is 20
percent 7 What will be the effect on credit creation if the Central bank reduces
required reserve ratio to 10 percent ? 9.6

@ A FT AE AR G R owm oA E A oA oqm g W A
fe #H-FH ¥ IT@ AP 2 W 3w B wwen FEU

o) 3 WEAEE T 20000 FAT FIA A AEYIF FRIHA IATE 20 WAV
g, @ sdogar § W@ geA fEaw dm 2 AR dEm §% sEveas
ARfed SO Rl T 10 Wfavd @ 2 ¥, @ wma gem A
q9YE 9em ?

What 1s meant by demand for money ? Explain the different motives of demand for

money.

15

WA AW A PN oA v 2 R & Am % fafhm R e oaofs w6 ifs

700
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what do you understand by national income ?

(@)

(b)

lain the van o e
Explain the various methods of estimating national income in an economy.

Differentiate between :
(1) Actual GDP and Potential GDP

(2) Nominal National Income and Real National Income. 10,5

q<ia A A M N TEEA T2

(a)

(b)

(a)

(b)

Maﬁmﬁn@ummﬁﬁﬁmﬁﬁﬁﬁmaﬂhﬁﬁm
g wqRT

(1) arEfas GDP q@n @wifad GDP

(2) e U @ @ aRdfas A T

What is meant by multiplier ? Explain the working of multiplier using suitable diagrams

and example. 9
ww%?wmaﬁsﬂaﬂmamﬁammaﬁml
For the comsumption function :

C=10+085Y

(1) Derive the corresponding saving function.

P.T.O.






BOR3
We Saia

() maﬂm“@mﬁﬂmﬁ'ﬁm|

i) TrfsE o sffee fye,

| Explain the determination of equilibrium level of national income of a two sector

economy using suitable diagrams. Is the equilibrium level of income found only at full

employment level ? 15

fell = Tew R OF fodsfta v § wfer s ffon @1 A w2
T TGO Fas O AR W/ W @ e ¥ 2

) Explain the process of credit creation by a commercial bank. What are the factors on which

credit creation depends ? 15

qmmﬁmﬁmmﬁﬂmvﬁmaﬁwaﬁfmumﬁﬁmaﬁmm
FH Wl w2

| (@) Analyse the quantity theory of money.

(b) Explain the concept of High Powered Money. 10,5

(a) 91 sftmm fagm #1 favemo #ifag

(b) I=9 vfe gm s@URON + FqHEEA |

P.T.O.
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Answer any five questions.
#' All questions carry equal marks.
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| (a) Define national income. Does increase in national income always lead to an increase in

economic welfare of society ? 8

mmﬁmmlwmmﬁqﬁmﬂmm%m
T § gy B E 2
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o |

I9YM = 50 FAS + 0.6Y

g = 20 U8

() T F YeF e I |

Gy afe fram § 30 F0e F afg A § @ Feraed SIHT T 3§ f
gfe @ ?

What is the net export function ? Using aggregate expenditure and aggregate output approach -
explain the equilibrium income determination in an open economy. 15
WS ff wem # ¥ 2 ®9 29 T Fd 39K $ giewV F WEN FE g
AT F Tqferd 3@ w1 fAuREm FifSw

(a)  What is money ? What are its main functions ? 8

gz fF9 FEd § 7 e = @ € 2

(b) Discuss the key determinants of demand for money in an economy. . 7 !'

frdlt afomeran d gz #1 W A fuifa FO 9@ FRE = oaoR Fifm 4

How do commercial banks create eredit ? What are the limits of credit creation power of

;

commercial banks ?

15

thﬁﬁwﬁmﬁ%?mﬁmﬁﬁwﬁmmaﬁm
. € 2











































































